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b Bt HM FtEX[Z 40| O] =t 2|24 A

i,

(1) (2) (3) (4) (5)

plI=k Week FE I A WEEKJ’HGF HER S aéﬁgﬂi%#
K2 &K &0l= 22018.6%*x 22024 .4%*x 22029.0%** 31608.4%*x 23117.8%%x

(1831.8) (1888.2) (1946.9) (5165.7) (1768.0)
K2 CH& 5674.1%x* 5683.2x* 5756.9x** 8105.5%x 5953.4xx*

(1300.3) (1340.4) (1381.1) (3698.9) (1318.8)
X&0l= 20384.7**x 22864 .4%** 22861.9%** 5266.5 19223.8%*%

(2379.2) (859.6) (886.3) (8495.5) (2394.2)
sHH Yes Yes Yes Yes Yes
Week FE Yes No No Yes Yes
A& FE Yes Yes No Yes Yes
JHSX: 3l &= Yes Yes Yes No No
It=XI: ILE01 E Rh== No No No No Yes
Dep var mean 233,202 233,202 233,202 238,620 235,697
N 20,628 20,628 20,628 20,628 20,628

Note: SH|H
< 0.01

S MY AT

ZH@0CH, 30CH,

40CH, 50CH Of4h,

ASES(THE 2

.*p <010, * p <005 ** p

12



t B YEE 7IEX S0 0jx 21 3] F =

1z
N

OtE 2EtSAHE HE/ol= A /A= Ols2t& ors=a
(1) (2) (3) (4) (5) (6)
K& &K &0l = 10228.4**%  9370.1*xx* 3316.4%*x* —-2391.4x* 5579.4%%%  —3827.2%**
(319.7) (188.2) (170.1) (1419.4) (203.8) (941.0)
X2 CH& 12357.0%%%  —2851. 1% =927 .0xxx —4481.9%%% 1457 7xxx 989.9
(226.9) (133.6) (120.8) (1007.6) (144.7) (668.0)
X&0l= 5935.8xx* 2277 Axxx* 1810.4%** 15086.4%**  —B6556.4%*% 1047.5
(415.2) (244.5) (221.0) (1843.6) (264.7) (1222.3)
sHH= Yes Yes Yes Yes Yes Yes
Week FE Yes Yes Yes Yes Yes Yes
A& FE Yes Yes Yes Yes Yes Yes
HSX: 2l A = Yes Yes Yes Yes Yes Yes
Dep var mean 66,220 43,975 11,923 43,285 12,906 47,566
N 20,628 20,628 20,628 20,628 20,628 20,628
Note: SMEH+= 42, AZHQ20CH, 30CH, 40CH, 50T O]d), 2522(57¢ZHE Z&e. OIEE OtE/HFH/ME /A2 S/
HOEE X8, OS2 82, NE, 22&/2F1 S LE0H 0ISRA2 =R, HLlE, A/FE, NS HUI/E2
NE X, ARL/BEY/ESKES 2018 *p < 0.10, ** p < 0.05, *** p < 0.01



bt B 7IEX|Z=N H|S0| 01X =24 2|24 A1t
Ols2t& Ols=2& SHILEH SAIUF
(1) (2) (3) (4)
K2 H&axXI&0l= 0.015%*x* —0.025xxx 0.044%*x* 0.026%**
(0.001) (0.002) (0.001) (0.001)
K& 0.007**x* —0.006x*** —0.012%xx —0.013xxx
(0.001) (0.001) (0.001) (0.001)
X&0l= —0.030*** —0.016x*x* —0.020*** —0.030%**
(0.001) (0.003) (0.002) (0.002)
sHHE Yes Yes Yes Yes
Week FE Yes Yes Yes Yes
A% FE Yes Yes Yes Yes
JtsXl: ol &= Yes Yes Yes Yes
Dep var mean 0.053 0.205 0.254 0.326
N 20,628 20,628 20,628 20,628
Note: SHHs dY, A FZH20C0H, 300, 40T, 50CH O] &), A5 E2RI(GT 22k ots2 N8, 278/
27258 tH OtSR22 =%, AHIls, EA/RE, UASXt ZHI/EF AP LE/ B A £ 90IE. *p

< 0.10, ** p < 0.05, *** p < 0.01
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X|Q MB smE gMI|7I0oR 4
M S AEE 7+ B 7HEX =40 Tt 2 =4 2t
s OLE UBISAE IE/2AF HE /= Ors2t& OS2
(1) (2) (3) (4) (5) (6) (7)
NEUWEXXEOIZ  40214.9%x%  19899.5%xx  15327.6%*x 5647 .6x*x —3568.5% 8382.5%xx  —2856.0%*
(2666.1) (495.0) (281.6) (242.2) (2004.9) (280.5) (1418.8)
X2 & 4744 9*x* 12096.2%%x  —2578.5%x*%  —888.8%*x  —4854.8*xx 672.3%%x* 903.8
(1892.1) (351.3) (199.8) (171.9) (1422.9) (199.0) (1006.9)
X20l= 31042.0%x*  —1967.6%x*  8292.5xxx  4298.5x*xx  10915.5%xx 1901 .5%x* 1778.0
(2479.3) (460.4) (261.8) (225.2) (1864.5) (260.8) (1319.4)
SN H Yes Yes Yes Yes Yes Yes Yes
Week, Al& FE Yes Yes Yes Yes Yes Yes Yes
IS 2| &= Yes Yes Yes Yes Yes Yes Yes
Dep var mean 232,237 67,430 43,992 11,935 42,735 12,124 47,188
N 10,348 10,348 10,348 10,348 10,348 10,348 10,348
Note: &X' H dE

= Ay, A 7H20LCH, 30CH, 40CH, 50CHK

0
, 2R8/2REE LE6HH Ot

17
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|8 7t Bt TM ZIEX| S0 O 20 2 =4 2t

 —
AE

—0

=
L

(1) (2) (3) (4) (5)

Hateadoe s AT Loy week FE T VO AEFE T s e N
2S5 1EF 46153.5%*x 46200.6%*x 46200.8%*x 48609.4**x 49615.2%*x
(4216.2) (4295.7) (4525.4) (7381.6) (4253.8)
A5 224 30605.7x*x* 30625.8x*x* 30647 .5%*x* 40810.3**x 32739.8x*x*
(2714.6) (2773.4) (2980.9) (7104.3) (2700.0)
A5 3EF 242251 x%x* 24230.5%** 24231 . 4x*x* 32813.8x*x* 25101 . 1 x%x*
(2552.4) (2616.5) (2880.8) (8371.4) (2528.3)
A2S4EF 24005.0%** 23997 .1 x%x* 24001 .2%%* 33734.0% 24302.8x*x*
(3332.4) (3387.5) (3562.7) (18707.0) (3243.9)
L5 6EF 4870.9 4877.8 4873.6 5956.2 5390.8
(5354.2) (5980.9) (6237.2) (8176.0) (5076.9)
47320.4%*x 47393.6%*x 47417 .0%*x 101943.3%*x 56573.7x*x*
(9852.6) (9885.7) (9958.6) (19979.3) (10660.2)
SN = Yes Yes Yes Yes Yes
Week FE Yes No No Yes Yes
ANS FE Yes Yes No Yes Yes
JFEX: sl &= Yes Yes Yes No No
JISXl: ItE0IE A= No No No No Yes

0
Has dEar HF7HQ20CH, 30CH, 40CH, 50CH O &h)2 Zateh * p < 0.10, ** p < 0.05, *** p < 0.01

21



ASEQY 7L WP AT FLEX|ZU0| i3t 3124 Ha
R ATy AbK| 20| = aff= S e 52 osza  osez
A==t
(1) (2) (3) (4) (5) (6)
A5 1EF 19246.8%**  13962.2**x  8089.2%** 2261.0 5674.3xx* -2763.8
(1208.5) (663.4) (535.4) (1851.9) (388.8) (2984.7)
L5 284 13733.7x*x  11299.5%xx  3893.1%%x -217.7 4913.9x** -3165.8~*
(759.8) (440.3) (384.7) (1334.3) (284.2) (1878.9)
L5 3ES 11306.5%*x  10091.1xxx  4023.8%*x 87.8 5265.8x*x  —5040.6x**
(637.7) (381.1) (324.9) (1379.5) (294.3) (1774.1)
LS 4EHA 9633.0x*x* 9151.6x*x* 3042 .8x*x* 285.3 5081 .4x*x* -2536.0
(641.7) (353.4) (328.0) (2267.3) (367.2) (2234.9)
LS 524 5995.2x%* 6551.5%** 1639.4x*x* 1088_6.8** 6032.6x** -3223.5
(587.3) (340.8) (404.6) (4760.2) (522.7) (2034.8)
25 014 18503.5%*x  9702.9*xx 6365.7x** 8148.6% 5652.2x%* 5524.0
(2178.7) (1244.4) (1219.3) (4786.1) (1179.6) (7775.4)
SHIH = Yes Yes Yes Yes Yes Yes
Week, Al& FE Yes Yes Yes Yes Yes Yes
NS 2l J = Yes Yes Yes Yes Yes Yes
Note: SH|H= JE1 A ZH200H, 30CH, 40LH, 500 Ol)S Z2te DIEE DIE/#H/ME/AZE/HAFYE
L Ots2dE2 &3, ME, 278/ 8S 8ol ots2&2 =7, HIlS, &A/FE, Asxt /85, A
SA ANSLYNEY/2RES O0|E. * p < 0.10, ** p < 0.05, ** p < 0.07 22



A58 7t Bt FHEX[EY H|S0f thet 2| H 24 24t
Ots2& Ots 2 AW H ESAIYHA
K| AT &xX| 20| 2" Al=2L
(1) (2) (3) (4)
A5 1EF 0.012%xx —0.027**x 0.048*xx 0.017%x%x
(0.002) (0.006) (0.004) (0.004)
A5 28 0.011%xx —0.030%** 0.048*xx 0.028*x*x
(0.001) (0.004) (0.003) (0.003)
A5 3EF 0.014%xx —0.036%** 0.050%x*x 0.027*xx
(0.001) (0.004) (0.003) (0.003)
LS 4EF 0.013*xx —0.023*** 0.044%xx 0.027 %%
(0.001) (0.004) (0.002) (0.003)
L5 5EF 0.019%xx —0.015%x% 0.039*xx 0.025% %
(0.002) (0.005) (0.003) (0.004)
A5 0)4 0.017%xx -0.013 0.046%xx 0.017%
(0.005) (0.011) (0.009) (0.010)
SHg = Yes Yes Yes Yes
Week, Al& FE Yes Yes Yes Yes
JtSX: sl &= Yes Yes Yes Yes
Note: B M AZFZH20CH, 30CH, 40CH, 50CH O] &S EEE. OIS 22 s, ME, 27E/2

S LE80IH Otsf22 =7, Hi S,
0

< 0.10, ** p < 0.05, *** p < 0.01

dA/FEl, ASA ZHI/ES, A
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bt Bt A S BEE ZIEAENO| O 24} 2[HEAM 24t
&3 = S ne =t oEBE  olEem
(1) (2) (3) (4) (5) (6) (7)
KA &K 2 01= 128965+ 45792 30281 *x* 8552 %% 13345%*x 11682%*x 1297 7%xx
(1016) (404) (244) (92) (90) (102) (101)
K& CH &t 26 75 14 -2 -8 -44 -0
(721) (287) (173) (66) (64) (72) (72)
XN&0l= —2041 1*xx  —7568%*x —4838*** 1399 x —1775%xx 1835%*x —1955%xx
(1319) (525) (317) (120) (117) (132) (131)
SHgE = Yes Yes Yes Yes Yes Yes Yes
Week, Al FE Yes Yes Yes Yes Yes Yes Yes
NHSX: 3 A Yes Yes Yes Yes Yes Yes Yes
Dep var mean 13,396 4,757 3,145 888 1,386 1,218 1,348
N 20,628 20,628 20,628 20,628 20,628 20,628 20,628
Note: SHHa= 48, AHFZH0DH, 30CH, 40CH, 50CH O|4), 2SE/GTHE ZEE. MEE DE/#H/HE/AZE/HoEE X
OISZPS 88, A&, S7E/APES TEGIH OIS2RS =2, HIS, HA/SE, NSX BH/EE, M2, ARU/EEY/22E
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& oE S Hc'j*j;/ E’;if’é/ oEZE  OlES
(1) (2) (3) (4) (5) (6) (7)
KA &K 201 = —106947**+  —=3B5564**x  —20911xxx  —B523Bx*x  —15737xxx  —6102%xx  —16304***
(1929) (350) (214) (160) (1422) (200) (945)
K& CH &t 5648**x 12282%x* —2865*** —925x %% —447 4xxx 1502%*x 990
(1369) (249) (152) (113) (1010) (142) (671)
AN&A0I= 40796%** 13503 ** 7115%%* 3209*** 16861 *** 4721 %%% 3002**
(2506) (455) (278) (207) (1847) (260) (1227)
SHgE = Yes Yes Yes Yes Yes Yes Yes
Week, Al FE Yes Yes Yes Yes Yes Yes Yes
NHSX: 33 Yes Yes Yes Yes Yes Yes Yes
Dep var mean 219,806 61,463 40,830 11,034 41,899 11,693 46,218
N 20,628 20,628 20,628 20,628 20,628 20,628 20,628
Note: SHH= S8, HEFZH20LH, 30CH, 40CH, 50CH Old), 25ERGTIHE 2. OtE= OIE/#FH/YE/MEE/HOES 28,
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